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1. Please check that this question paper contains all the printed pages.

2. All answers must be written in the space provided.

3. Do not write anything in the margin.

4. Do not leave the examination hall without handing over the answer paper to the
invigilator.
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SECTION - A

I) Fill in the blanks:

1) If 5 x 6 =30 then +6 = 5.
2)The of 6 x 8 and 8 x 6 is same.

3) means repeated addition.

4) The result of division is called

5) is the method of multiplying by expanding numbers.

Choose the correct option : (5x1=5)

6) The answer of multiplication is called

a) Quotient b) Product c) Dividend d) Multiplier

7) Any number multiplied by 1 is always itself
a)l b) The number c)y 0 d)11

8) The leftover ones in a division is called
a) Remainder b) Product <¢) quotient d) Divisor
9) 20+4 =

4 c) 3 dy 5

is the method of multiplication by multiplying individual digits.

a) lattice b) Boxmodel c¢) onetoone d)onetomany
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SECTION - B (5x2 =10)

11) Solve the problem : 90 x 65
Ans:

12 ) Find 19 x 34 using multiples of 10.

Ans:

13) Divide and write Multiplication sentence: 500 + 5

Ans:
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14 ) 75 marbles are distributed equally among 5 boys .How many marbles will each boy get ?

Ans:

15 ) The cost of 6 apples is [0 90 .What is the cost of 1 apple?

Ans:

SECTION-C 5x3=15

16 ) Use the box model to solve 29 x 45

Ans:
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. What will be his annual income ?

Ans:

18 ) Use column method to solve 372 x 26

Ans:

19) What should be added to the dividend so that there is no remainder in 875 ~ 6

Ans:
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20) Divide using long division method and find the quotient and remainder.
560 + 15

Ans:

SECTION — D (3 x5=15)

21) Karan has 826 flowers .He gave these flowers equally to 9 friends but a few
were

Left with him. Find the number of flowers left with Karan. Check your answer

Ans:
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o 22) Use any two different method to solve the problem. Explain the method that you
used to solve : 389 x 64  (lattice/box model/column method )

Ans:

23) Use any method to solve 293 x 62. Explain the steps of your method
Ans:

Page 7 of 7




